001. Who honored with lifetime achievément award in academia 20237

(A) Najma Akhtar (B) Dipak Dey
(C) Rajendra Singh Pawar (D) Katta Narsimha Reddy

002. Who appointed as Singapore’s President in 20232

(A) J. Y. Pillai (B) Tony Tan
(C) Tharman Shanmugafatnam (D) S. R. Nathan

003. ‘Hindi Divas’ was declared by which Prime Minister of India?

(A) PM Narendra Modi (B) Pandit Jawaharlal Nehru

(C) Gulzarilal Nanda (D) Lal Bahadur Shastri
004. clinches Indonesian Masters title 2023 in Badminton.

¢A) Kiran George (B) Mithun Manjunath

(C) Snkanth (D) Prannoy

005. Who is CEO and MD of ICICI Bank?
(A) Shashidhar Jagdishan (B) Sandeep Bakshi
(C) Prashant Kumar (D) Dinesh Kumar Khara

006. What is full form of PM-ABHIM?
(A) PM Ayushman Bharat Health India Mission
(B) PM Ayushman Bharat Healing India Mission
(C) PM Ayushman Bharat Health Industry Mission
(D) PM Ayushman Bharat Health Infrastructure Mission

007.  Which company has introduced the world’s first car that can run fully on
alternative fuel ethanol and is equipped with flex-fuel engine?

(A) Ford (B) Toyota
(C) Nissan (D) Tata Motors
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Centre of Public Health In

Gujarat? |
(A) Rushikesh Pate| (B) Mansukh Mandaviya
(C) CM Bhupendra Pate] (D) Manoj Aggarwal
010. Natjonal [nstitute of Industria Engineering became the _ 1IM of
India.
(A) 201 B) 21%
(C) 22 (D) 25"

01}. Maya OS is a new operating system developed by to protect its

computer systems from cyberattacks.
(A) The Government of Gujarat  (B) The RBI

(C) The IRDAI (D) The Union Ministry of Defence
012. has become the first Indian state to offer free in vitro fertilization
(IVF) treatment.
AA) Gujarat (B) Kerala
(C) Karnataka (D) Goa
013. | launched a new Global Initiative on Digital Health supported by
the G20 Presidency.
(A) WHO (B) SIDA
(C) UNESCO (D) UNDP
014. NHA collaborated with to boost digital health integration in

insurance sector.
(A) Ministry of Health and Family Welfare

(B) Government of Gujarat
(C) IRDAI
(D) LIC
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ay takes place 90 Which day of every year?
(B) 20" September

(D) 18th September

015. World Alzheimer's D
(A) 21%' September
(C) 19" Scptember

ot B Dty & oty & gued &

¢ suitable TCA50N 10 use Macro in MS Office (Word,

LI -
& .4k

016. Which onc is the mos

—_—
8. -4

: Excel, PPT, ctc)?
:::' (A) To record sound *(B) To automate l'epCtitiVC tasks
(C) To record keystroke (D) To record mouse move

A" e

4

017.  Shortcut key to insert subscript 10 MS Words,
(B) Ctrl + Shift + “+* (plus key)

(A) Ctrl+=
(C) Alt+= (D) Ctrl+s
018. We can start MS Word by typing in the Run Dialog box.
QA) Word (B) Msword
(C) Docx (D) Winword
019. The options Portrait and Landscipe comes under in MS Word.
(A) Orientation "~ (B) Size
(C) Rotation (D) Columns

020. What does the Function Key —F12 do when you are using MS Office (Word,
Excel, PowerPoint, etc.)?

(A) Open ‘Save As’ dialog box (B) Shows ‘Open’ dialog box
(C) Display ‘Save’ dialog box (D) Open ‘Font’ dialog box

021.  Gutter Margin is used to
(5)'# Add space to the header side  (B) Add space to the left

(C) Add space to binding side (D) Add space to footer side

sl - =

022. First page of a website 1 called

(A) Home Page - /(B) Bookmarked Page
| (C) Browser Page (D) Search Page
i | SSN:2023-A] [4] [ Contd...
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023. Ruler’ option jy 4 s pprsavg 1590 04 M Diend
Vittlahi, (hue LM Tvns
((A) RCVicw al b ‘" 'ﬁh“‘h Z je s iys
C (1%) jJesiy
(C) Insert 13y Vien
024. e B R tyne o
(A) ROM n("h‘”ll?ﬂllc mcmﬂrf : 1
(©) E ‘
oM () Al of the gIven
025. is how
(B) Latency
B
) andwidth (D) Throughput
026.
Human body develop from the
(A) Ovy cell 1s
m
B) Sperm
C) Zygote (B) _
(D) Primary oocytes
027.  Accord
whjclrl ét;gl(:erbl;gl;ledlcal Waste Management Human Organ Discarded in P
) o
((‘é) il“e (B) Black \
} Red (D) Yellow \
028. Allare Live vaccine EXCEPT.
(A) BCG (B) Measles
© TT. (D) OPV
029. Maslow’s hierarchy of need theory is called
(A) Theory of personality (B) Theory of motivation
(C) Theory of emotion (D) Self defence
030. Traitis
(A) Social trends of the past
(B) The smallest unit of culture
(C) Social trends at present
(D) The smallest unit of the personalhity
SSN :2023-A} |5) LRI
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031. The prSCTiptiOﬂ 1s for two tablespoo " Ofm]"( of magnesia, How many ml.
will you give?
(A) 15ml (B) 30 m|

(C) 45ml (D) 60 m

032. The volume of blood pUmPCd by the heart during one minute 18 called

(A) Blood pressure (B) Cardiac load
(C) Cardiac output (D) Aortic output

033.  Voltage of ECT is
(A) 40-60 volts (B) 80-90 volts
(C) 70-120 volts (D) 120-160 volt

' ' ! wn as.
034. Toddler have a tendency to say NO to everything. This feature is kno

(A) Imitation (B) Ritualism
(C) Negativism (D) Autonomy
_ T oM
035. Drug of choice for Eclampsia is
(A) Oxytocin (B) Betamethasone
(C) Diazepam (D) Magnesium sulphate

036. Head quarter of World Health Organization (WHO) is situated at:
(A) New York, United states of America

(B) London, England
(C) Geneva, Switzerland

(D) Paris, France

037. Number of births divided by total population include men, women and
children (1000) is

(A) Crude birth rate (B) General fertility rate
(C) Age specific fertility rate ,_QD) Total period fertility rate

L
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039.  Which of the following i the prce’s ol€ i the health promotion
urse

-

(A) Health risk apprajsa)

NN
- ‘ ‘ .:II‘ . - ‘

-

(B) Teach client to be effective health consumer
(C) Worksite wellness

(D) None of the above

y § v+1 1 T

040. In newbom hearing assessment test done 1
(A) BERA (Brain stem evoked response audiometry)
(B) Tuning fork test
(C) Audiometer test

(D) Bone conduction test

l -
041. Which one of the following vitamins help in wound healing

(A) Vitamin A (B) Vitamin B
— |
(C) Vitamin C (D) Vitamin D 3

042. “Esprit de crops” refers to

(A) Sense of achievement (B) Sense of humours

(C) Sense of belonginess (D) Sense of morality

043. The type of evaluation where the student’s performance is compared with
the set of objectives is referred as

(A) Criterion referenced evaluation
(B) Norm referenced evaluation
(C) Qualitative evaluation

(D) Quantitative evaluation

SSN:2023-A) [7]
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lowade the bocly’s midline is termed as:
(B)  Adduction

(D) Pronation

044.  Movement of a body part
(A) Abduction

(C) Extension

045.  Appropriate nursing ervention for bogey uterus is

(A) Elevate mother’s lcg (B) Encourage to void

(C) Massage the fundus (D) Express clots

046.  Low-sof cars and wide-set cyes in a child is suggestive of:
(A) Exstrophy bladder (B) Tracheoesophageal fistula
(C) Renal agencsis (D) Congenital heart defects

047.  In x-ray, the heart of a child with tetralogy of Fallot appears:
(A) Cone-shaped - (B) Boot-shaped
(C) Pea-shaped (D) Apple-shaped

048. Whi :
ich of the following drugs use in treatment of mania.

(A)  Amitripthyline (B) Sertraline
(C) Pacitine N\ \ (D) Lithium

049.  Which of the following is an i
obstructive pulmonary disease?

(A) Pursed-lip breathing
(C) High flow oxygen

ntervention for a patient with chronic

(B) Chronic steroid therapy
AD) High Carbohydrate diet

050. Injection of 2 Drug directly into joints is termed as

(A) Intra - articular

(B) Intra arterial
| 4C) Intra Ossicular

(D) Intra Medullary

051.  Learning means
(A) Acquisition of skill
(B) Acquisition of knowledge

(D) Any change in behaviour

SSN :2023-A] [8]
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mum tllbcrcmns“ 3 discm-ert‘d by
s was B) ouis Pasteur

(€)  Albert Neisser (D) Carlo Urbani

053. Which organ is “Powg 1y - ccell
- SC
(A) Nucleus (B) \fitochondna

(C) Golgi Body (D) Ribosomc

054.  Hepatitis spread by bloog adeTsion i
(A) Hepatitis D (B) Hepatitis C
(C) Hepatitis E (D) Hepatitis A

/

05S. Tnal and error theory of learing theory was given by
(A) Evan Pavlov (B) Thorn dike
(C) Skinner (D) Kohler

056. Study of human population is \

e

(B) Mammography
(C) Sonography (D) None of above

(A) Demography

057.  State of deprivation of water without loss of electrolyte

(A) Over hydration (B) Excessive vomiting
(C) Dehydration (D) All of Above

058.  The antidote for heparin is
(A) Calcium gluconate (B) Vitamin K
(C) Glucose AD) Protamine sulphate

059. A pill rolling tremor of finger is typically associated with the patient who

has:

(A) Parkinson’s discase (B) Multiple sclerosis

(C) Raynaud’s disease (D) Myasthenia gravis
SSN : 2023 -A | 9]
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060, Ultimate product of the digesti N Viltates jy
Fl “Tove
(A) Glucose ) o
(©) Galactose D Alorhe above
061.  The daily dictary allowances recommende for lactating women |s
(A) 2200 Keal () 2500Keal
() 1200 Keal (D) 2800 Keal
062. Hand washing is an example for __ disinfection
(A) Concurrent (B) Terminal
(C)  Precurrent (D) Current
063. Koplik’s Spots are seen in:
(A) Rubella (B) Measles
C .
(©) Chikungunya (D) Chicken pox
064, Soﬁening of cervix in pregnancy kpnown as
(A) Palmer’s sign \ (B) Jacquemier's sign
(C) Homon’s sign (D) Goodell's sign
065.  Which of the following developmental stage corresponds to infancy?
(A) Trust Vs Mistrust (B) Autonomy Vs Shame
(‘57) Initiative Vs Guilt (D) Industry Vs Inferiority
066. Cognitive behaviour therapy 1s most useful in
(A) SchiZOphrenia \(/B) Deprcssion
(C) Mania (D) Man chausen syndrome
067. What is the equipment that indirectly measures arterial oXygen saturation?

(B) Cardiac monitor
(D) Defibrillator

(A) Pulse Oximeter
(C) Ventilator

—*___—__—_’fk——__‘
10 |
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068.  Modernisation refers 1,

(A) Dress style (”) Way O“llc

cveloping infrastructure

(_( ): Advancemeny iy "’"hlml(,l, (D) )

y

069. Which is a measures of intell; hat takes into account both mental age
frence

and chronological age of Persor
| ML

070.  The most common cause of Urinary tract [nfection is
(A) Steptococcus pyogens (B) Bacillus subtilis

(C) Klebsiclla pneumoniac (D) Escherichia coli

071. Temperaturc rcgufalion centre 1s present In
(A) Thalamus (B) Hypothalamus
(C) Medulla _' (D) Cerebellum
A
072. Which of the following scale of mcasurcment has an absolute zero?

(A) Nominal scale (B) Ordinal scale
(C) Interval (D) Ratio

073.  The principles of true experimental study includes
(A) Control, Randomization and Sampling
(B) Control, Study group and Experimental group
(€) Concept, Manipulation and Reliability

(D) Control, Randomization and Manipulation

074.  Tip of iceberg phenomenon is most appropriately represented by
(A) PEM (B) Diphtheria
(C) Measles (D) Cholera

SSN:2023-A) ———— _______ [pTO.
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075.  The Sequence for Donning personal Protective Equipment (PPE) is
(A) Gloves. Gown, Goggles. Face Shield, Shoe Covers

(B) Gown, Shoe Covers, Gloves, Mask, Goggles, Face Sheild

(C) Mask, Goggles, Face Shield, Gown, Shoe Covers

() Gown, Shoe Covers, Gloves, Face Shicld, Mask

076. Food that should be avoided 1n an alcohol withdrawal client is
(A) Milk (B) Orange juice
(C) Soda (D) Regular coffee

| 077. A characteristic or Attribute under study is known as:

. (A) Hypotheses (B) Variable
l (C) Assumption (D) Objective

078.  Fracture which is commonly seen in children below 12 years

T —

(A) Impacted fracture Bj Compound fracture
(C) Green stick fracture | (D) Complicated fracture

.‘ oy, *
/

079.  The nurse ask the client to read the Snellen chart. Which of the following
nerve 1s tested ¢

(A) Optic MB) Olfactory
(C) Oculomotor (D) Trochlear

080.  The term “stat” in drug administration means that the medication should be

given:
(A) Four times a day (B) Only at night
(C) Whenever necessary JD) Immediately

081.  The constant presence of infection in a given geographical area without any
external input 1s known as:

(A) Epidemic (B) Endemic
(¢) Pandemic (D) Sporadic
SSN :2023-A | [12] [ Contd...
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082.  Giolden colour of Amniotic Fluid is seen n —
(A) Rh incompatibility (B) Foctal death <
w1 . v 2!
(C) Foetal distresy (D) Post maturity ‘:I
083.  Chromosome pattern : ' ir
N pallern iy Dowp’ s syndrome is : 21
(A) Trisomy 1§ , i
“ (B) Trisomy 21 e
(C) Trisomy 22 | 3
(D) Trisomy 23 i
; o
084.  Projectile Vomiting jg #-.!;
n | 4 characteristic of which of following condition? 213
. (A) Pyloric slenosis P -4
: mperiorate
(C) Appcndlchis (l ) p | Anus
(D) Hernia
08S. ' -
S Schizophrenia i q condition,
(A)  Somatoform B
(C) Organic (B) Neurotic :
(DY Psychotic
086.

~ (B) Hypocalcemia
(D) Hypercaleemia

{C) Hypernatremia

087.  Which of the following drugs will be administered to treat anaphylaxis?

(A) Atropine (B)  Sodium bicarbonate |
(C) Digoxin (D) Epinephrine \a |

088.  Decision making develops during

(A) Infancy (B) Childhood |
(C) Adolescence (D) Adulthood ”'
{

089. Empathy involves:
(A) Feeling sorry to some one
(B) Putting others before yourself
(C) Putting yourself in some one else’s shoe

(D)/ Putting yourself before others
\J
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090.  Immunoglobins arc

(A) Glycoprotein (B) Lipoprotein

D) Amino acid

P (C) Polysaccharidcs
091.  The total number of Thoracic vertebrae are
(A) 5 (B) 7
©y 12 (D) 4

092. Marriage which can cause hereditary disease is
(A) Polyandry (B) Polygamy
(C) Monogamy (D) Consanguineous

093.  Which degenerative disease is more common in elderly person.
(A) * Alzheimer’s disease (B) Depression
(C) Schizophrenia (D) Delirium

094. Growth chart is also known as
(A) New Ballard scale \ _(P) Road to Health Card
(C) APGAR SCORE % (D) GCS score

i o
.
-,

095} Child is passing ribbon like stool; these are the typical clinical features of
(A) Necrotizing entrocolitis (B) Intestinal Obstruction

(C) Anorectal malformation (D) Aganglionic megacolon

096. The most common cause of PPH

(A) Uterine Atony (3) Retained placenta
(C) Trauma (D) Bleeding Disorder

097. In a health child head circumferénce and chest circumference equal each
other around the age of

(A) 3-6 months (B) 6-9 months

(C) 9-12 months. (P) 15-18 months
v — 5 U T e
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098. Iodized salt in iodine dcﬁCieﬁcy control programme is :
,(A) Primordial prevention (B) Primary preventjq,
(C) Secondary prevention (D) Tertiary preventiop

099. What is the condition in which children is pulling out hair?

(A) Trichotillomania (B) Acrophobia
(C) Enuresis (D) Encopresis

100. A low-pitched, continuous gurgling sounds caused by secretions in the large \ :
airways is called:

(A) Wheezing (B) Rhonchi
(C) Coughing (D) Stridor

W/——m‘.mmh“
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